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Y MeHsa Bce nonyYurcs.




Ha ypoke Hac ce200Hs Xoym
gesiukue oersna...
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Bblumncnu:
6+8+4=
171 -4 -3 =
9+2-4= 41-1+30=

12+ 13 + 14 =
60 — 10 + 50 =






CpaBHM.

389 + 78 + 16 + 38
58 + 389 + 78 + 26

OTBeT:
551




.
Hanawn anHMﬁ‘erumep.
4 05 27 : 3
18: 6 200 r
3e7 D ] | ’

24 : 6 8e4 t




0.. ‘Q “ ... ‘... ‘: .: ’..- '..:f. ~Q’l ‘l ‘: .0’0.0 ‘0 »
..'.‘. .’.’.’I% o ..! % :(.‘..' ’.l..’..
o.o o':' 0'0 . 'q:'.'.v. ‘Q:V.Q
R N

LR

5050 S
tuatelars

EOE
"on_r .
- -

.'
t'

*
S
-

e

-
.
i

-
‘o'

- 4%
oo’y
P 'o:

.




)
X
O
Q.
>
1)
>
QO
—

«llopsidok

de
3akperisieHuUe»

\ 4

ucmeuu.

\ 4




. Uenb ypoka:
Hay4yuTbcA...

[TOHATL...

Y3HaThb...
PacwupuTsb...




[ToMmHMU!

2 CTYNeHb > L 75 9|

1 cTyneHb L."\):/ f’}'
s o

i1
npuopuTeT {__( )‘J]“r;’
[® 5%
















HnuHHa nomaHHou Ne20,

cmp.113
O
K S
S @)
A 02}7 S © /cm
$ /3

/cm

374+35*3+777=76cm.




Codenau cam!




lpoeepb cebsi!

683

1) 920237 + 58 = 741

2) 8%2:4=4

3) 36?4*2=18
4) 63°7*2=18

Mosniooubi!







Yro
IMOHPABUJIOCH?

Kakoe 3ag1anue 0bLI10
TPYAHBIM?

Y10 HE00X0AUMO MMOBTO
Ha cJeayoleM ypoke?




Bbi0epuTe CBOE HACTpPOEHUE
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